+WS 4.1 Balancing Equations / Formuls ‘Weighi
For 148, take inveniony of each side and determine whether the equation i= balenced () or nof (MJ):

L Ho+Oax—=aHO1 ____ 2 Ho+Dp—=0HD
A AF;+MNg—=2NF3 4 PRG0N =2 KeTlz e X0y
5E JHa+IHD — INeDH +He B 3 HCON + 2 ANOHy —=> GKOH + MpCOx 0y

Fer 7-26, balance the afon writing in the appropnate cosfficients (lowsest wh ole-mumissrs).
Chischk your answerns h;.:?;lﬂung ﬁ-l!mﬂnry (ke aborve), HINT: wee o pencil

T K+ S—=_ KIS 8 o Li+ g -—=_ LizD

B MNawr _ Og--=_ MO 10, N+ Ha=—>__ MNHy

1. _ Fes O  Fagil,y 12 __ _HEBr—= _ K+ __ Bz

13, __Mgllz-—> ___ Mg+ ___ Cls 14, ___AOs - ____ Als ___ O

1= _ FeBry+ _ Fzg—= _  FasF;+ ___ Biz 16. _ MNHyOH —= _  MNH3+ __ HzD
17, _ Ma +_ HyD == MalH = Hs 18, By D s MWD+ HaD
19. _ BaD+ _  HC —= _  BaCl;+ __ HO

20. ___ SnaBOa)y == ___Sne ____Be ___ Os
29, _ HyPO4 + _ CajOH)z = _  CayPOg)z; + _ H{DH] mir seserce e 50 i o e #i)

22, GCeHizD + Oy - COz + HO

23 ALO o+ _ G+ _ Clg — _ ANCy + O
24, SiFy = Ho) e HaSily  + H=SiFs

2, HNO; + _ PaDho —= _ NzOs + __ HaPOs i bt 5 pimsmrrum iy
26 ___HNHs r MOk MO = H=O i all € wil be lens tham 10

For #F27T - 34, Lise a peviodic tabile to delemins the jormela mass (alomic wedghi)of the following. use ans. bank_.
7. Mz 8. HzD 8. Ca(OH): 0. Al(PDy)a
31, CaH;OH 32, AghNO; 33, MNpOg 34, (MHs)zHPOy,

A (PO 2) T3 DR - 4 8D 74 e aEz 1770 T £




